AAREKTD 4

SF05(2023) F£E FNLUESEEREKEFERR
£%15(2023) £8 A31A~9H2H
ME B HARE LR
BFOUTILA HER BFVUTIVR  H#ERRE
11 -]6 11 -0
wi BA (412 1|l mmmx || sz mE || D[] e sem
(FngriL T %) - (FnExiumz) | | C % @ )| |13 =11 (¢ #% @ )
11 -8 11 -8
=r 9 - 11 == 7 - 11 (S 8] S+ ==
Hﬁ;’:i‘ﬂ_’, EE.% 3 10 _ 12 2 {EF*;]- IZ_-;E @*{f Zaﬁ 3 11 _ 6 1 EJ: E#*
(FnL T %) H—g (FnEamuT )| |C & @ )| |11 -8 (C #% @ )
10 -[12 11 -8
- 11 -|8 = - e 1M -7
(FngL T %) H—g (FoExumz)| | % @ o) - ( B =& )
11 -8 11 -5
: 11 -|5 o man | |we 11 -|8
fEiE 1558 |, 12 ~l10l0 AR dHE | (WIAR BEE , 11 -l glo| F* &FA
(Fngl T %) - ( % = )| #&% @& ) - ( B 3 )
BFOUTILA  EREB TFVUTILR R
11 -8 11 -73
y 12 -110 = : 11 -9 "
(FnErL T %) - (FnEmuT )| |C # @ )| |11 - 6| [ #% @ )
11 -13 1 -]2
. 11 -1 - " 11 -5 = .
e 153 |, i1 -l olo| £ PN RIAGR REE , 12 —l10lo f=H #51
(FngL T %) - (FoEmLT )| | % @ o) - ( % M )
BFOUTILA R TFIUTILA R
11 -4 10 -[12
mis 411 C| 3o wh MR || st EE ||} ||, [ar nes
(FngL T %) - (FogriuT )| | # &) }}—g ( ¥ M )
BFOUTILA  BHLRTEE TFOUTILR  SALRTEE
11 -4 11 -6
= 11 -|8 - - 11 -9 =
(FnFL T %) - (FogriuT )| | # & o) - ( ¥ M )




